'PUHV- PASOVOM EL(- BS - BSG, PUTV- PASOVOM EL(-BS - BSG

() 1 305 kg
()
N=| 6 |
=M 10 |
A 78 = | 78 x 10° |
N = 3 |
() H= 648 = 0.648 'm
() L= 724 I [0.724 |m
() Lg=| 303 Im{lg L/2)=[0.303 |m
() Kn=| 2.0 |
() Kv=Ki/ 2=| 1.0 |
() Fh=kh W9. 8= 5978.0 |
() Fv=kv W9. 8= 2989.0 |
Fh Hg-(W 9.8-Fv) Lg
() = TNt \ 1783.5 |
() GFh/ NE| 996. 3 \
()
o =Rol A= 22.9 |MPa ft= 176 Mha
T QA 12.8 |MPa fs= 101 M
fts'=1.4ft-1.60 = 225.9 P2
fts' ft fts=fts' fts'>ft fts=ft fts= 176.0 |MPa
o= 229 | Ma fts=| 176.0 |MPa
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Ta=| 5488 | N Fo= | 1784 N
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